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Lesson 15 Summary

Percent error is often used to express a range of possible values. For example, if a box of cereal is
guaranteed to have 750 grams of cereal, with a margin of error of less than 5%, what are possible values
for the actual number of grams of cereal in the box? The error could be as large as (0.05) - 750 = 37.5 and
could be either above or below than the correct amount.
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Therefore, the box can have anywhere between 712.5 and 787.5 grams of cereal in it, but it should not
have 700 grams or 800 grams, because both of those are more than 37.5 grams away from 750 grams.
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